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Concentric Circles-based Simple Method
to Solve Image Distortion Center
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Abstract The distortion center must be solved in order to correct the image distortion resulting from the lens in computer vision system. A

concentric circles-based method is proposed in the paper to find the distortion center. In the method, the concentric circles in different positions are
captured perpendicularly, and then the centroids of distorted concentric circles in corresponding image are computed to determine the straight lines.
The intersection point of such different lines is solved as the distortion center. The method needs no special equipments and avoids complex

nonlinear optimization procedure. An experiment is performed and the presented method proves to be simple and reliable. Its accuracy can meet the

common industrial requirement.
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